
Deadly deeds: the mystery of the missing
pieces

(Hint: it may be necessary to rotate the pieces to see if they fit)

The done to: The central square is missing. The person with the correct piece is the victim.
Touching edges must match.

Miss White Mr Pink

Miss Green Mr Blue

The do-er of the deadly deed: The graphs below have a square missing. The rotter has 
the correct piece.

Zebedee Dougal

Ermintrude Azalée



When

One of the 4 pieces shown will fit in 
the maze to allow a way out

After the holiday In the summer holiday

At half term Just before the end of 
term 

Why

There are 4 overlapping shapes – a rectangle, a square, a triangle and a circle.
Link  the correct missing piece to the reason for the culprit

If it’s A : 
Very bossy

If it’s B: 
Face is missing

If it’s C: 
Doesn’t listen

If it’s D: 
Took away my chair

Who, whom, when, why: _____________________deaded ______________________
When________________________________________________________________
Because______________________________________________________________




